BT ETAKER KEBEHARSAVICEDCEREE (P1) SH4EFE
BiE 5% | X | &5 PI%& R3 PIFTE{E R4 PIZtE1E ==tV 2 -5
A101 |FIOKERIEREE 0.38 0.37 (mg/L) REBIERREE S KREBRIERAIELEL
A102 |BAHERMEREKEREEE 30.0 70.0 (Eki?%) SIARZ> (BAHEC YRR KEEE(E) x 100
A103 | RMU\OXSVREKEEERK 13.0 21.0 (%) (Z fE7KIE D MNDM YRR fa7kieER) / KEE#fEX 100
Al04 | Bt (TOC) EE/KBEEXK 20.0 16.7 (%) (= fa7kizDBHEY (TOC) B/ faKieER) / KEEEEEX 100
Al05 |EEEREKEEEK 20.0 10.0 e, (ii)g ) ERRUZDEEY) (2 fa7kieDHUZERBIRE/ HEKEER) / KEEEE[BEx 100
- . . (8, 1BB4) N N N _ . N .
JKE | A106 |EHAEEREKERERELHR 14.2 14.3 (%) TSI, RO DLERFE) (2 a7k D XM RIS/ fa7KAEER) / KEEEEEX 100
% i >
s gk X, h5>X-12-2
T | B A107 |BHMtEEREKER LR 0.0 0.0 (@, m2%) O?Dl§b/ ?ODDX@/ 7| (5 srkie o MBI ki) / KIEEAEEX 100
B | sm (%) NSoOOIFL> ~JUoOOIF
= LY RoEY 14-AFH>
PN S A 8 o S i (fB, 1IBER) - . R o e ) 4o .
X A108 |HBEIEREEKEEER 13.3 16.7 (%) o000 (2 fa7kie DXL HBBIERIRE fa7Ki24K) / KEEAEEX 100
A109 |EEEE/KBEREEEL 0.000 0.000 - 115188 max Z(Xij/GVj )
A201 |JRAKKEBELRE 181 182 (1E8) Ek/KEESRIBE S
= A202 |(E7KiKERE (BH) BFRE 5.2 5.2 (EFR/100 km?) (fa7kikERE (80) BUKEFE/RTEE/KEE)x 100
e A203 |Fe/kitEiRsRMEER 31.5 23.5 (%) (SEMICER UZE/KCHENESE / BKHENSE) x 100
A204 |BfEfEKER 98.6 98.6 (%) (BfERKMEE/ MK MEE)x 100
A205 |BF/KAE/KIEIRER 10.1 9.8 (%) (AP7KAE/KIBHE B4R / BT/KFE/KIESR) x 100
(B | A301 |KEROKESBHFE 0 0 () FERIKEKE B
KE | A302 |MFEERIBLEER 65.0 57.7 (%) (BWFTE IR ERILIE KR/ FEREKE) x 100
Eskieds fEseEs | A401 | ERBUEKESRR 3.7 3.5 (%) (BREHEKE B/ a7k 1F42) x 100
B101 |BACREKER 66.6 66.5 (%) (ECREKEKE/2KEKE)x100
B103 [ TF7k= 18.5 15.7 (%) (thFkigKE / FERIEVKE)x 100
B104 |hEs%FIR=R 65.5 64.7 (%) (—H Bk SR/ HEEREE ) x 100
B105 |BRAH/E=R 72.6 71.6 (%) (—BBKBUKE/HEEEE)x 100
B106 |&fER 90.2 90.3 (%) (—HF9ikE/—HRABIKE) %100
B107 |BUKBIERZEE 7.9 8.0 (km/km?) BUKEIER /R A/KTETE
B108 |ERgmiR= 35.6 35.0 (%) (RRUEERIEE / BIER) x 100
MEs% | B109 |/ULT st 37.9 35.8 (%) (BRUZIULTE / JULTRESR) x 100
B | B110 [JRKkE 5.7 5.6 (%) (EERIR/KE / FERIE/KE) x 100
Bl1l |B¥=X 93.1 93.2 (%) (EERVBERIKE / FERIBIKE) x 100
B112 |BINE 91.0 91.1 (%) (EFRIBUUK R/ S RIBL/KE) x 100
B113 |EL/ACETEREED 0.88 0.88 (") EkEESE/— B EEKE
B114 [#&/KAO—AHZDEKE 313 311 (L/8-A) (—BFE9EKE/BRERKAL)x 1,000
B115 [#a/K#IREER 0 0 (") ERIHAKFIRE 2R
B116 |#A/KERER 99.6 99.6 (%) (BRTERRK A O/ #7K XA A L) x 100
B117 |s&f@mtRSEHE=R 40.2 40.2 (%) (FRIRIEAS LY 1 - BR - STEMSDAETE) x 100
e B201 |F/KIZSEHEIS 0.04 0.00 (/10 £ - &P 105 DFIKIGIE IEBHUFER | FKIBEL
= B202 |SEHRBFHIKACOR 3.1 3.1 (%) (BB EK A C/ZBRTERK A L) x 100
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BiE 94 | X | &S PI% R3 PIst&E(E R4 PIstE(E BAfi] % stE
== B203 [#A/KAO— A7z DETEERIKE 139 139 (L/N) (BEAGHENESE X 1/2 + B2EKMERE) x1,000/HERKAD
B204 |BEROBHAIS 0.9 0.7 (/100 km) EROBEUF /( EWIEE/100)
gy | B205 |EBREROBMAS 0.6 0.6 (#5/100 km) HREIROBHIHS/ (EREES/100)
ez | B206 |BRREBOEMES 0.6 0.4 (#5/100 km) HRBIEDOBIFE | (HREREE/100)
— | B207 [emxmEROoSHES 2.0 1.9 (#5/100 km) IERBMBEIRDBMIFE / GEKRERIEE/100)
MR 5208 [ABOBRES 16 14 (/1,000 1) ERKEOBIITE | (A2 1,000)
B209 %**D ASIE DI - AT 0.01 0.01 (B579) S (U KBS x K - KKK AL / BHERAAD
B210 |KEMFIIREEREER 2 3 (|, %) FRID KA R HEEIER
Z B211 [HNi2BREEE 6.1 6.1 (E/km) ENRE / BOKEER
E B301 |[FUKEBIm3 YzhEHHES 0.28 0.28 (kWh/m?) BEE 2R BHFEREOA / FRIRKS
L B302 |E/KE1m3 Lz DHBIRILFE— 2.69 2.72 (M3/m3) TRLE—HEE / FEREUKE
= 5 | pags |CNELM3 HieD —HHERER (CO) 108 106 ; o - .
X a5 o (g - CO,/m>) [ZBs{biksR (CO2) HEHE / FRifi/KE] x 10
D B304 |BLEAIREIRILF—FIAR 0.000 0.000 (%) BEFARR (BERREIRILF—RHOBHERE / DHEROBHERE) x 100
t B305 |EkREETOEMNFIER 48.6 61.5 (%) (EFIFALE / BKRETE) x 100
@ | B306 [@REENOUSAIILE 100.0 100.0 (%) (U1 DL ENZRREEDR / RREEWRER) x 100
B | B401 |[9051ILGBHRE - WER 78.3 78.3 (%) (U5 IVEHREEE + WELE) / BIRIEE] x 100
=18 | B402 |BROWHRER 0.04 0.05 (%) (PR EIRIEE/SIRIER) x 100
B501 |AEMAERBERKIERER 33.5 33.5 (%) CAEMREAERR T\ 38K HERaE /208 /KHEE%AED) x 100
e N CEETREEERZ C\\ o, - Ba - ST RmEE DB
s | BS02 |EEMMFLMBBRER 32.3 32.3 (%) Wi - 5 - SRS OREH) x 100
E37 | B503 [EEMAFESBEERE 28.8 30.4 (%) CEEMAEMERZ T\ 3 BIRIEE/BIRIEE)x 100
B504 |EROEHE 0.49 0.65 (%) (B SN - ERIEE/EWIEE) <100
B505 |ERRMEBEER 0.000 0.000 (%) (BESN-ERIEE/BIES) <100
B601 |RMREIDEKELER 9.1 9.1 (%) (BUKRLEAE /28K HERAE ) x 100
B602 [BKMEROMIE(LE 11.6 11.6 (%) (TR R DR S M= KHBERRE 1/ 2% K HEREE ) x 100
R T——— 35.0 35.0 %) iﬁj;;i’igiﬁ?ﬁ:ﬂﬁ?’m“” FOBOHIROMWRALS
B603 |/R>IArDMmE(EER 12.8 12.8 (%) (MM RO N TR TEREE D/ ME LSRR > TFrEES ) x 100
e B604 |EL/K MR bR 53.4 53.4 (%) (MRS R E DB B/ EA2EE) <100
(R B605 |ERDMESR 12.5 13.3 (%) (HEBEE/SRIEE)* 100
B606 |EHERDOMEER 25.0 26.2 (%) (ERERDS SMESER/ESERIER) <100
=iy | B606-2 | EREBROMBEESER 32.0 33.2 (%) (ERBREOS 5MEESEDS 5 ERIEE/EHBIRES) <100
KE | B607 |BEHEKIEREKEEOMESE 22.0 22.7 (%) (BB KEREKERDS STHESEER/ SRS KEREUKSIES) X 100
R B607-2 B E AR B DR EATE 287 0.3 %) Ei%%ﬁﬂ(bﬁ%’z“@ﬁﬂ(%ﬁ%@55@1%@31&0356%%EE/§§%87J<EE§Q@E7K
BIIER) %100
B608 |EBEFEKERER 107.3 108.4 (%) (DB ETEE (CHER C = BEKAES)/— B FIBUKE) x 100
e e (TR e e A — O T e X (3 (PR el —
B609 |EREZHEK 40.5 37.8 (=) BT S, MELTSON
B610 |BAEMRZEE 0.56 0.6 (5) TR/ — DR ER R
B611 |[C2#A/KIERERE 1.4 1.4 (#Pf/100 km?) TSk R4/ (FAERA/KTERE/ 100)
B612 |{A/kKEREE 0.006 0.006 (B/1,000 N) |BMEBF2ATRE sa/keEEy/ (BHERK AO/1,000)
B613 |E#HADIRKT > IREE 0.031 0.031 (m3/1,000 A) |BM#EFE2HTRR BRARKY > IDER/ (1K A0/1,000)
C101 |EZENZLIE®R 120.6 113.9 (%) (BRI - SETHIN)/ (EEEMA- ST 1E) |x 100

2/4R—=T




Bz

MR HE WS DR

N8| X5 | BS PI& R3 PIStE(E R4 PIZTE(E Bif] S StEN
C102 |[#EEUzit= 127.5 121.1 (%) [(ESZEUNZS + EEEOMINGS )/ (BT + BEIMEMA)]x 100
C103 [#AuNzzib= 127.5 118.4 (%) (HAUNZS/$8EF) x 100
Cl104 |RERIESH=Z 0.0 0.0 (%) [RIERIES/ (F I - FETBINS)]x 100
C105 [@ASIE=R (UINZSHIUIASY) 0.5 0.5 (%) (IEEIERAD/IRSHIUA ) x 100
C106 [@ASIER (BAKMUIAS) 22.2 19.4 (%) (BABERAS/EARMINAGT)*100
C107 [BhE— A7z D#AKUNZS 123,304 104,450 (FF/A) HIKUNZS /1B B PR B K
C108 [#A/KINZS (T T BHEHREBDEES 8.7 8.6 (%) (BEHAS58/1AKIRE) x 100
C109 [#A/KINZS (T3 D EZEFBDES 2.7 2.6 (%) ({RZEAEFIS/#87KIRES) x 100
C110 [#A/KINZS (Cx1 3 DIRMTENB DRSS 31.0 31.7 (%) (RUTME NS/ 487K IR%S) x 100
FBKIRZS (S T 2 ERWEDZHDE
. . o) 2?“ = N\ (= kg vem — “é 1
Cc111 SRR SOBS 11.7 12.2 (%) (BRUWBR DD EEER TS/ M8KIRES) x 100
C112 [{A/KINZS(CxI T D EEERESDIS 186.1 187.2 (%) (REERS/HEKIRES) x 100
@2 | c113 |Ri&mEUNE 121.6 114.9 (%) (Bl 4a7K Bl x 100
B |,
®rE
Cl14 |fHHaBm 183.3 183.9 (A/m3) HRKINES /R =
N 5 [(REEA- (Tt LS8+ MRARUAERSHERM+ WeEEE+ ERne
C115 |#a/KIERfT 150.7 160.1 (F/m3) SRA)] /EHEKE
C116 |1H'H10 m*Hf DREMRIE 1,032 1,032 () 1 hAL0M Y= DRERRE
C117 |1H'H20 m*Yfz DREMRIE 2,836 2,836 (M) 1 M A0mM Sz DRERRIE
C118 [mEhtt= 310.1 377.1 (%) TRBEE/REBEME)*x100
C119 |BCEAEBRIL= 74.7 75.5 (%) [(BAS+EIRS+IHMIELER & HREINE)/ &fE - E4&4&5t]x 100
C120 |EEk= 117.8 116.3 (%) [BEEEE/(BAS+EIRS +FHIELER & HRIEIRES)]x 100
255 CHOMEEER TR/ (MEERMENE-RHRIEER
T Py — -_ 55 %) isﬂﬁwfwwiiﬁELmﬁKéﬁrmm%ﬂﬁ%%mxﬁﬁlﬂx
C122 |EEBELOEGE 0.14 0.14 (E)) (BN - TGS/ [(EETERE + PREEEE)/2]
C123 |BIEEEERAME 8.1 7.9 (m?/7Am) RS/ BHETEE
Cl24 [BiE—AHZDBEIUKE 673,000 568,000 (m3*A) BOMEMHEREA FRIHEIUKE / BRErERE
C125 |[B&mEREnaS 0.02 0.01 (#4/1,000 1) BREERAE / (R RAER/1,000)
C126 |BISUN= 99.4 99.4 (%) (REMAZH S58) x 100
C127 [#aKfEIEEIS 11.1 11.9 (#4/1,000 1) ORI/ (#7Kk{48R/1,000)
C201 [/KiERiiICRI T D EIRESE 2.46 2.23 (#/AN) BENEVS L TV SKiERITICR Y 3182 / £MEHK
gt | €202 |ShEBFHERSRS 3.0 4.3 (BERE/AN) (BN INIHERS TR X ZBAL) / DA
M- | | C203 |REpEHERERS 0.2 0.2 (BERE/AN) (BB NEHERS T -RIxSBAL) / 2WE
GRS C204 |HitiiE= 28.7 30.1 (%) (RS2 / £ME) x 100
C205 |/KEEETIIRERES 12.2 13.5 (/N BEOKEEFRREL / 2EH
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BiE 5% | X | &S PI& R3 PIFtE1E R4 PIFtE1E =1y} m& -5
P | C301 |i@gtHRaE= 100.0 100.0 (%) (BFEUTKEA—T—5 | KBA—5—KEH) x 100
B2 C401 |[LIREE(IC K DIBRDIBEE 1.7 1.7 (BB/15) [LERES IR EDBCMEPEN / fa7KFEL
pEe| mp C402 |1 >H—2Y MMTKRDIEHRDIREE 2 2 ([@1) BT IR—SADEBHEE
oo C403 |/KEMRRFEIE 3.2 3.3 (A/1,000 N) | BIEF2HIRR BEE# / (RIEHKAD/1,000)
i C501 |E=#»&& 0.015 0.012 (A/1,000 N) | BMEF2HIRR EZHAE/ (RTEREKAO/1,000)
g C502 |7>4— NBHRINEEIS 0.02 0.01 (A/1,000 A) 72— NEEAE ) (RERKAD/1,000)
oo | e C504 |/KEH—EXICHTIHBERICEE 0.00 0.00 (4/1,000 14) TKiEH — EXBIER SR / (faK4H£8/1,000)
C505 |KE(CHTBEIBHICEIS 0.18 0.21 (4/1,000 14) IKEEERAE /| (¥6K4#41/1,000)
C506 |/KERE(CH T DHBENGEES 0.00 0.00 (44/1,000 14) FEREHER ML / (fa7K4£4/1,000)
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